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Two charges of equal magnitudes kept at a distance r exert a force F on each other, if
the charges are halved and distance between them is doubled then the new force
acting on each charge is

(a) F/8

(b) F/4

(c) 4F

(d) F/16
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a) F/8
b) F/4
c) 4F

d) F/16

Which one of the following is the Sl unit of electric field?
(a) Coulomb
(b) Newton
(c) Volt
(d) N/C
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(a) Coulomb




(b) Newton
(c) Volt
(d) N/C

. When an electric dipole is placed in uniform electric field it experiences

(a) anetforce
(b) atorque
(c) both a net force and torque
(d) neither a net force nor a torque
W9 U faggd fgsyd &1 uhadT faggd & & @ ST § ol 98 3gHd Hral 3
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. 1V equalsto

(a) 1J
(b) 1C/1J
(c) 1J/1C
(d) 1JC

1V sRTe}

(a) 1J
(b) 1C/1)
(c) 1J/1C
(d) 1JC

. If adielectric slab Is introduced in between the two plates of a parallel plate
capacitor then its capacitance

(a) increases

(b) decreases

(c) remains same

(d) becomes zero
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6. The value of absolute permittivity of free space is
(a) 8.854 x 10 C°N'm™
(b) 8.854 x 10" C°N'm™
(c) 8854 x 102 C*N'm™
(d) 8.854 x 10> C°N'm™
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(a) 8.854 x 10 C°N™'m™
(b) 8.854 x 10" C°N'm™
(c) 8854 x 102 C*N'm™
(d) 8.854 x 10> C°N*'m’

7. Inaregion of constant potential
(a) The electric field is uniform
(b) The electric field is zero
(c) There can be charge inside the region
(d) The electric field shall necessarily change if a charge is placed outside the region

o g & Q|

a) faqgd & = |1 2 |

b)fdegd AA A ®

)& & STER TS ol ST el 3

d)faegd &7 ifard U § 95d ST Afe BIS 3T & B drE” @I WY

8. Which one is the not correct expression for energy stored in a capacitor
(a) % CV?
(b) @*/2C
(c) »av
(d) Qv?
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(a) % CV?
(b) Q*/2C
(c) »av
(d) Qv?

9. Sl unit of electric flux is
(a) N/C
(b) J/C
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12.

(c) NC'm?
(d) NC'm
faegd Ut 1 S1 D ©
(a) N/C
(b) J/C
(c) NC'm?
(d) NC*m

The surface considered for Gauss’s law is called
(a) Closed surface

(b) Spherical surface

(c) Gaussian surface

(d) Plane surfaces
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. An electric charge q is placed at the centre of a cube of side a, the electric flux on

one of its faces will be
(a) a/6eo

(b) a/ goa’

(c) q/4meqa’

(d) a/eo
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(a) a/6eo
(b) a/ &0d’
(c) q/4meqa’
(d) a/eo

Ohm'’s law is followed by
(a) Conductor

(b) Semiconductor

(c) Insulator

(d) Both (a) & (b)
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(b) reamerd

(c) Barerd
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Drift velocity V4 varies with the intensity of electric field as per the relation
(@) Vg E?

(b) Vqox 1/E

(c) V4« constant

(d) Vqox E
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(@) Vg E?

(b) Vqox 1/E

(c) V4« constant
(d) Vgx E

Kirchhoff’s junction rule is based on conservation of
(a) Mass

(b) Charge

(c) Energy

(d) None of these
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Kirchhoff’s loop rule is based on conservation of
(a) Mass

(b) Charge

(c) Energy

(d) None of these
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(a)ygogHTH

(b) armaer
(c) Sl
(d)STH A PIS 8!

The resistivity of material of a conductor depends on
(a) Length

(b) Area of cross section

(c) Temperature

(d) None of these
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If n cells each of emf E and internal resistance r are connected in parallel then the

total emf and internal resistance will be

(a) E, r/n

(b) E, nr

(c) nE, r/n

(d) nE, nr
G n JA YD fAgd ared 9o ‘E’ 3R MRS UfRlYy +~ TAHIR B IS §UE af
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(@) E, r/n

(b) E, nr

(c) nE, r/n

(d) nE, nr

The resistivity of alloy manganin is

(a) Nearly independent of temperature

(b) Increases rapidly with increase in temperature
(c) Increases rapidly with decrease in temperature
(d) decreases rapidly with increase in temperature
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(a) ATUHM ¥ TTHT WA
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(d) IToE B g & Ty doht 9 gedr g

. The equivalent resistance of resistors in parallel combination
(a) Increases
(b) Decreases
(c) Remains same
(d) None of these
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(a) S @
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(c) CREESIE
(d) ITHIADIS !

. In a Wheatstone bridge if the battery and galvanometer are interchanged then

deflection in galvanometer will

(a) Change in previous direction

(b) Change in opposite direction

(c) Not change

(d) None of these
FrewH foet o afe 9t 3R Aeamitdiex & 3oy & gd foar oy af Aed-ndier o
fagraur grm

(a) ud fa=m H uRacH

(b) T fe=m & ufads

(c) &l s

(d) TTHADIS TR

. The nature of parallel current and anti-parallel currents are
(a) Parallel currents repel and anti-parallel currents attract
(b) Parallel currents attract and anti-parallel currents repel
(c) Both currents attract
(d) Both currents attract
MR RIS 3R TR fuda YRTST &1 THid g
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(d) S} YRTY 3T Pl &

22. A charged particle is moving on circular path with velocity v in a uniform magnetic
field B, if velocity of the charged particle is doubled and strength of magnetic field is
halved then radius becomes
(a) 8 times
(b) 4 times
(c) 2 times
(d) 6 times
T SMTAFRI HUT UHTHH Gadb1g & 8 H dT v & 1Y TR U4 R 99 381 6, S
STAfRTA U1 BT AT GRIAT I 4T ST 3R aDH 1T & Bt feyarar simefht Hr f e al
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(a) 87T

(b) 47T

(c) 27T

(d) 67T

23. Sl unit of magnetic flux is
(a) Tesla
(b) Gauss
(c) Ampere
(d) Weber
YTDIT Belad DI 51 3PS §
(a) Tesla
(b) Gauss
(c) Ampere
(d) Weber

24. Cyclotron is used to accelerate
(a) Electrons
(b) Neutrons
(c) Positive ions
(d) None of these
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25.

26.

27.

28.

The magnetic field B at the centre of a current carrying circular loop of radius ris
(a) Bis directly proportional to r
(b) Bis inversely proportional to r
(c) Bis directly proportional to r?
(d) Bis directly proportional to r?
31507 r & b YRTATE! GRTbR U & g & Gab g A7 8 8
(a) B, r%?ﬁ‘aﬁ'ﬂﬂqm%
(b) B, r. P FSHHIUTN &
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(d) B, r*. % Y STUIS §

The distance between two parallel current carrying conductors is doubled what will
be the effect on force between the conductors

(a) Force becomes % times

(b) Force becomes % times

(c) Force becomes 4 times

(d) Force becomes 2 times
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(a) SAL/47TT B ST G

(b) & % AT B ST 8

(c) S 4TATGISICTE

(d) ST 2 TGS E

A moving charged particle experiences no force while moving through uniform

magnetic field

(a) If charged particle moves perpendicular to the magnetic field

(b) If charged particle moves parallel to the magnetic field

(c) If charged particle moves at an angle 45° to the magnetic field

(d) If charged particle moves at an angle 60° to the magnetic field
T TITHM SR B THTHAM G 19 & T 7T B T DIs 9 SFIHT ol
HRAT T

(a) TG SHTARTA BV YD 1T & P Aadd aordl o

(b) TS SHTARTT HUT GIH 1T & P FHHIGR Iadl &

(c) TfE AT BT BT & F 45° P B0 TR T AT 3

(d) TfE AT BT BT & F 60° P I TR Tl AT 3

The earth behaves as a magnet with magnetic field pointing approximately from the
geographic

(a) North to South

(b) South to north



(c) Eastto West

(d) West to East
g} U YaP P U T IER PRl & oI gaep1g & TTHT Hiferes J S
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(a) ITR I e

(b) GRATTH I

(c) yd qufzm

(d) U

29. The angle between geographic meridian and magnetic meridian at a place is

30.

(a) Magnetic declination

(b) Magnetic dip

(c) Horizontal component of earth’s magnetic field
(d) Vertical component of earth’s magnetic field
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The strength of the earth’s magnetic field is

(a) Constant everywhere

(b) Zero everywhere

(c) Having very high value

(d) Vary from place to place on the earth’s surface
et & et 8 B o 3
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31. The vertical component of earth’s magnetic field at a place is /3 times the horizontal

component the value of angle of dip at this place is

(a) 30°

(b) 45°

(c) 60°

(d) 90°
ot =M IR g2t & YAPT &5 BT SR T Aol T BT 3 T8, 39 M R
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(a) 30°

(b) 45°




(c) 60°
(d) 90°

32. Lenz’s law is a consequence of the law of conservation of
(a) Energy
(b) Charge
(c) Emf
(d) Current
T 1w foras TRefm & W &1 ufkom g2
(a) SHoll
(b) amaer
(c) faga are® I
(d) foreg emer

33. The emf induced in a coil is
(a) Directly proportional to change in magnetic flux
(b) Directly proportional to rate of change in magnetic flux
(c) Inversely proportional to change in magnetic flux
(d) Inversely proportional to rate of change in magnetic flux
T PUsel # ORd fegd ags s 8
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(b) YIPI BeTeRT ﬁWﬁR%W
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34. Sl unit of mutual inductance is
(a) Farad
(b) Ampere
(c) Henry
(d) Tesla
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35. The magnetic field is parallel to a surface then the magnetic flux through will be
(a) Zero
(b) Small but not zero



(c) Infinite
(d) Large but not infinite
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